‘ lE % é Multiply decimals by 10,100,1000

Name: Date: Score:
6.854 x 100 = 9.466 x 10 =
4.11 x 1000 = 7.089 x 10 =
7.977 x 1000 = 2.192 x 10 =
6.841 x 10 = 10.424 x 1000 =
9.636 x 10 = 1.432 x 10 =
6.167 x 1000 = 3.18 x 100 =
3.424 x 100 = 5.819 x 1000 =
7.981 x 100 = 4.325 x 10 =
4.069 x 1000 = 5.285 x 1000 =
9.551 x 100 = 7.683 x 1000 =
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‘ lE % é Multiply decimals by 10,100,1000

Name: Date: Score:
6.854 x 100 = 685.4 9.466 x 10 = 94.66
4.11 x 1000 = 4110 7.089 x 10 = 70.89
7.977 x 1000 = 7977 2.192 x 10 =21.92
6.841 x 10 = 68.41 10.424 x 1000 = 10424
9.636 x 10 = 96.36 1.432 x 10 = 14.32
6.167 x 1000 = 6167 3.18 x 100 = 318
3.424 x 100 = 342.4 5.819 x 1000 = 5819
7.981 x 100 = 798.1 4.325 x 10 = 43.25
4.069 % 1000 = 4069 5.285 x 1000 = 5285
9.551 x 100 = 955.1 7.683 x 1000 = 7683
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